
10.27.

F = (x,y, (z −1)2 )

S :  x2 + y2 + z2 =1,  z ≥ 0.

S  är ej sluten. Slut med ytan S1.

S1 :  x2 + y2 =1, z = 0.

divF = 1 +1+ 2(z − 1) = 2z



 F • ˆ n d
S ∪S1

∫∫ = 2zdxdydz
K

∫∫∫

 2zdxdydz
K

∫∫∫ = 2zdz
z= 0

1− x 2 −y 2

∫
 
 
 

 
 
 
dxdy

Dxy

∫∫

 2zdxdydz
K

∫∫∫ = 1 − x2 − y2{ }dxdy
Dxy

∫∫

 2zdxdydz
K

∫∫∫ = 1 − r2{ }rdrd
Dr

∫∫



SVAR:

 2zdxdydz
K

∫∫∫ = 2
1

2
−

1

4
 
 

 
 = 2

 F • ˆ n d
S
∫∫ + F • ˆ n 1d

S1

∫∫ =
2

 F • ˆ n 1d
S1

∫∫ = (x, y,1) • (0,0, −1)d
S1

∫∫ = −

Flödet Φ = F • ˆ n d
S
∫∫ =

3

2
.


